

[image: ]
[image: ]
[bookmark: _GoBack][image: ]
image1.png
APPLICATIONS OF MATHEMATICS (INT 2)

Checkup Exercise for Straightforward Calculations in a Social Context

1.

Mr Samar carns £1260 per month.
Mrs Ramas earns £291 per week.

Calculate the annual earnings for both. and state who earns the greater annual salary.

Tsobel is a fashion designer. She works a long. basic 50-hour week at a rate of £68 per

hour plus a limited amount of overtime at time and a half.

Calculate her gross pay for a week in which she works her normal 50 hours, plus 20

hours overtime.

Look at the payslip for Miss Dina Grubb and answer the questions which follow.

Name Emplovee No.

NI Number

Dina Grubb 657841

TT3575 X

Basic Pay Overtime

Gross Pay

£980-50 £70.00

Nat. Insurance _Income Tax

Total Deductions

£96 £150-54
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(a) If April was regarded as month 1, what month of the year was this payslip for?
(b) Calculate: (i) Dina’s Gross Pay.

(if) Dina’s Total Deductions.

(iii) Dinas Net Pay.

Geoff sells frozen foods ...‘delivered right to your door™.
He works for 48 hours, caming £5 per hour and gets 4:5% commission on all weckly
sales over £300.

Calculate his wage for a week when his sales are £820.

Employees pay about 9% of their gross pay in National Insurance.
1f Moira’s gross pay for the week was £212 how much did she pay in National
Insurance?
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Loan Company — Repayment Table
‘WITH PROTECTAPLAN ‘WITHOUT PROTECTAPLAN
Laan Period - Amount of Loan  Monthly Payment | Loan Period Amount of Loan Monthly Payment
12 months. £1000 £103-56 12 months £1000 £9522
£2000 £194-10 £2000 £183-96

24 months £2000 £11069 24 months £2000 £99.81
£3000 £16308 £3000 £145:19
£5000 £26774 £5000 £241:60

The McCann family borrowed £5000 from a Loan Company over 2 years with payment
protection.

(a) How much was their monthly repayment?
(b) What was the total amount that they had to repay over the 2 years?
(¢) What was the extra cost of the loan to the McCann family?
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7. Trevor the traffic warden gets paid £150 per week. He claims
£5600 for allowances against income tax.

Tax rates are:
Lower Rate 20% for Taxable Income up to £4000
Basic Rate  25% for Taxable Income £4001-£30000
Higher Rate 40% for Taxable Income over £30000

What is Trevor’s:

(=) annual salary

(b) taxable income

(c) tax bill for a year

(d) tax bill for a week

(<) weekly wage with tax off?





